

$$t_n = \underbrace{5}_{f}, \underbrace{9}_{f}, \underbrace{13}_{f}, \underbrace{17}_{f} \quad f_{n+1} \quad \boxed{t_n = f_{n+1}}$$

الف) $t_n = f_{n+1}$

ب) $f(10) + 1 = 41$

۱

$$t_n = \underbrace{4}_{f}, \underbrace{10}_{f}, \underbrace{16}_{f}, \underbrace{22}_{f}, \dots \quad f_{n+2}$$

الف) $a_1 = 4 \quad a_{10} = f(10) + 2 = 42 \quad \frac{10}{2} (4 + 42) = \frac{10}{2} \times 46 = 230$

$$\frac{2}{2} \times 230 = 230$$

ب) $4 \times 18 = 72 \rightarrow a_{19}, a_{30}, a_{31}, a_{32} \rightarrow \frac{4}{2} (a_1 + 2nd + a_1 + 31d)$
 $4 + 18 \times 4 + 4 + 31 \times 4 = 124 + 124 = 248$

$$2 - (1 + \sqrt{3}) = 2 - 1 - \sqrt{3} = 1 - \sqrt{3} = d$$

$$t_{25} - t_{23} = a_1 + 2d - a_1 - 2d = 2d \rightarrow 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$$

۳

$$3 \times 25^n = \frac{5^y + 5^n}{2} \rightarrow 4 \times 25^n = \frac{5^y + 5^n}{2} \rightarrow 8 \times 25^n = 5^y + 5^n \quad 1 + 2n = y$$

$$2 = \frac{n+y}{2} \rightarrow n+y = 4 \quad 1+2n+n=4 \rightarrow 3n=3 \rightarrow n=1 \rightarrow y=3$$

$$ny = 1 \times 3 = 3$$

۴

$$25^x - 1 - 25^n + 1 = 25^y = d$$

$$25^{x-1} = \frac{4m+2n-f}{2} \quad \left(25 \times \frac{1}{2}\right) - f, \left(25 \times \frac{1}{2}\right) - 1, 25 \times \frac{1}{2}, \dots$$

$$f_{m-2} = \frac{4m+2n-f}{2} \quad \frac{-3}{2}, 0, \frac{3}{2}, \dots \quad 25^{n-4} - (f \times 25) - 4 = 4$$

$$f_{m-2} = 2 \rightarrow m = \frac{1}{2}$$

۵

$$a_n = \overbrace{r_1}^r \overbrace{d_1}^r V_1 \dots$$

$$4n-1 \leftarrow 4 \leftarrow 3, 2, 1$$

$\omega, 11, \dots$

$$10 \times 11 - 1 = 109$$

$$Y_0 \times Y+1 = F_1$$

$$4n-1 \leq \epsilon_1 \rightarrow 4n \leq \epsilon_2$$

$\rightarrow 7.5V \rightarrow$

$$1 \leq n \leq V \rightarrow$$

$$a_1 + v + r\Delta = r1 \rightarrow a_1 = -r1$$

$$\underbrace{a_1 + a_r + a_n}_{v(a_r)} = r_1 \rightarrow v(a_r) = r_1 \rightarrow \underbrace{a_r = v}$$

$$a_1 + a_\mu + a_\delta = 1.2 \rightarrow \nu(a_\mu) = 1.2$$

$$\underbrace{\quad}_{r(a_\mu)} \quad \boxed{a_\mu = \mu\omega} \leftarrow$$

$$\frac{38 - 7 - 21}{-21} = \frac{7}{-21}$$

$$= -\frac{1}{3}$$

برابر ۳

$$a_1 + a_1 + d + a_1 + r \cdot d = 12 \rightarrow \sum_{i=1}^{x(-r)} a_1 + r \cdot d = 12$$

$$a_1 + r_d + a_1 + f_d = r_d \rightarrow \boxed{r_d a_1 + v_d = r_d}$$

$$\begin{cases} -4a_1 - 4d = -10 \\ 4a_1 + 4d = 14 \end{cases}$$

$$12d = 4$$

$$\boxed{d = \frac{1}{3}}$$

$$t_1 = a_1 + 9d \rightarrow 1 + 9(1) = 10 \quad \begin{matrix} 10a_1 + 9 = 10 \\ 10a_1 = 1 \\ a_1 = \frac{1}{10} \end{matrix}$$

$$S_9 = 4S_4 \rightarrow \frac{9}{4}(a_1 + a_9) = 9 \times \left(\frac{4}{4}(a_1 + a_4) \right) \rightarrow 9a_1 + 9d = 4a_1 + 4d$$

$$\frac{a r_o}{a v} = \frac{a_1 + 14d}{a_1 + 4d} \xrightarrow{d = r_{a_1}} \frac{r_{a_1}}{14 r_{a_1}} = \boxed{\mu} \rightarrow \mu_{\text{موج}}$$

۱۱، ۱۵، ۱۹، ۲۳، ...، ۳۵

$$a_1 = 11$$

$$q_N^w = q_1^{11} + 4d \rightarrow 4d = w_d - 11$$

$$4d = r^2 \rightarrow d = \frac{r^2}{4}$$

جبر کسوم → $\bar{a}_1, \bar{a}_2, \bar{a}_3, \dots, \bar{a}_n$ جبر علی $\bar{a}_i$

$$a_1 = \psi \Lambda$$

$$\frac{a}{r^2} = \frac{a}{r_1} + r dr$$

$$w_d = 1^w - 1^u \Rightarrow w_d = -1 \rightarrow d = -a$$